Dining Philosophers:
Which necessary condition(s) is/are prevented?

Shared:

Boolean InUse[4]=(False,False,False,False,False);
Semaphore S[4]=(1,1,1,1,1),Status=1;

Philosopher;

Loop
P(Status);
/* Wait for stick while holding Mutex to InUse */

P(S[(1+4)mod 5]);

InUse[ (i+4)mod 5] :=True;
if not InUse[i] {
P(S[1]);
InUse[i] :=True;
V (Status) ;
Pick Up Sticks;
Eat;
Put Down Sticks;
P(Status);
InUse[i] :=False;
V(S[i]);
}
InUse[ (i+4)mod 5] :=False;
V(S[(1i+4)mod 57);
V (Status) ;
Think () ;

endloop



